60C Stand Assembly

Product Images

7/4/25
https://jpw-catalog-ga-b2c-2.corevist.cloud/60c-stand-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

19

Part Number

2365025

60C-401A

60B-402

60B-403

TS-1550071

TS-1534042

TS-1550041

6285975

6285976

6285977

60B-410

6285805

VB-A44

60B-413

TS-0267021

60B-415

60B-415MF

60B-415MFC

60B-415CS

60B-415MDC

60B-415CC

60B-415SC

60B-415RC

6285988

6285966

60B-418

60C-419

Description

60C/60HH Stand Assembly (Index #1 thru 51)

Stand

Door
Carriage Bolt
Flat Washer
Phillips Pan Head Machine Screw
Flat Washer
Screw Knob
Door Lock
Hex Nut
Carriage Bolt
Flat Washer
V-Belt

Motor Pulley

Set Screw

Motor

Motor Fan (not shown)

Motor Fan Cover (not shown)
Centrifugal Switch (not shown)
Motor Dustproof Cover (not shown)

Capacitor Cover (not shown)

Starting Capacitor (not shown)

Running Capacitor (not shown)
Lock Washer

Hex Nut

Motor Cord

Control Switch

https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

Size

2HP, 1Ph,
230V

1Ph

3/8"-16x2-3/8"

3/8"
M6x12

M6

3/8"-16
5/16"-18x3/4"
5/16"

A-44

1/4"-20x1/4"

2HP, 1Ph,
230V

400MFD,
125VAC

30uf, 350VAC
5/16"
5/16"-18

1Ph

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

45

46

47

48

49

PM2000-298
60C-421
60C-422
6285909
6285910
60B-425
6285978
60C-427

PJ882-526A

PJ882-526ACS

PJ882-526A0R

JWBS18-447
TS-1550031
PJ882-551
PJ882-548
TS-0732041
TS-0208041
TS-0720081
TS-0680031
PM2000-105
6296150
60C-439
60B-440
60C-441
TS-0720091
TS-0570031
TS-081C022
60C-446
60B-447
60B-448

TS-1533042

Safety Key For Switch
Power Cord

Switch Arm

Flat Washer

Pan Head Screw

Dust Chute

Key

Cord Protector

Magnetic Switch

Contactor Switch (not shown)
Overload Relay (not shown)
Screw

Flat Washer

Machine Screw

Switch Plate

Star Washer

Socket Head Cap Screw
Lock Washer

Flat Washer

Powermatic Nameplate
Warning Label

Strain Relief

Strain Relief

Motor Label

Lock Washer

Hex Nut

Phillips Pan Head Machine Screw
Control Cord

Strain Relief

Switch Plate

Phillips Pan Head Machine Screw

https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

1PH

174"

1/4"-20x1/2"

5x5x30mm

1Ph 230V

1Ph 230V

M5x8

M5

M5x50

M5

5/16"-18x3/4"

5/16"

5/16"

1Ph

1Ph

3/8"

3/8"-16

#10-24x3/8"

M5x0.8x12

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

50 PM2700-440 Wide Stripe sold per ft

51 PM2700-441 Narrow Stripe sold per ft
52 60C-452 Cord Plate 1
53 TS-0810012 Round Head Slotted Machine Screw #10-24x1/4 2

Additional Information

Stock Number 1610084K-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly 714125



https://jpw-catalog-qa-b2c-2.corevist.cloud/60c-stand-assembly

